

2024 Booklist

Schoolstuff.com.au

Brigidine College Year 12

List A

General Requirements

Only purchase headphones if you do not have some already

only paramaco madephoneous you do not have come amount		Specified			Order
Product	Price	Qty	Amount	Qty	Your calc
Pencil Case Clear Mesh 340mm x 150mm	\$3.50	1	\$3.50		
Faber-Castell Textliner 46 ICE Superfluorescent Pink	\$1.35	1	\$1.35		
Faber-Castell Textliner 46 ICE Superfluorescent Blue	\$1.35	1	\$1.35		
Glue Stick Staedtler 35g	\$2.02	1	\$2.02		
Pencil HB Single	\$0.64	2	\$1.28		
Pencil 2B	\$0.50	2	\$1.00		
Ruler Plastic School 30cm Clear	\$0.62	1	\$0.62		
Faber-Castell Single Hole Sharpener with Catch Assorted Colours	\$1.08	1	\$1.08		
Osmer No. 10 Stapler with 1000 Staples	\$4.20	1	\$4.20		
Eraser Micador Large 3020	\$0.39	1	\$0.39		
Headphones MConnected Multimedia On Ear With MICROPHONE 03	\$13.35	1	\$13.35		
Faber-Castell Trilux Ballpoint Pen Black	\$0.52	2	\$1.04		
Faber-Castell Trilux Ballpoint Pen Blue	\$0.52	2	\$1.04		
Faber-Castell Trilux Ballpoint Pen Red	\$0.52	2	\$1.04		
	Total		\$33.26		

Religion & Ethics / Study of Religion

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 48 Pg	\$0.96	1	\$0.96		
	Total		\$0.96		

English/Literature/Essential English

Retain from Year 11: Dictionary and Thesaurus

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (for English)	\$1.42	1	\$1.42		
Exercise Book A4 96 Pg (for Literature)	\$1.42	1	\$1.42		
Dictionary Oxford Aust Integrated School Dictionary and Thesaurus 9780190303488	\$33.95	1	\$33.95		
	Total		\$36.79		

General Mathematics

Retain from Year 11: EL531THBWH Scientific Calculator

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	2	\$2.84		
Calculator Sharp EL531THBWH - Scientific	\$42.68	1	\$42.68		
	Total		\$45.52		

Mathematical Methods

Do not substitute TI-84 Plus CE-no other type of calculator will be acceptable

Retain from Year 11: TI-84 Plus Graphics Calculator

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Texas Instrument TI-84 Plus CE Graphics Calculator	\$220.00	1	\$220.00		
Exercise Book A4 96 Pg (with margin)	\$1.42	2	\$2.84		
	Total		\$222.84		

Essential Mathematics

Retain from Year 11: EL531THBWH Scientific Calculator

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	2	\$2.84		
Calculator Sharp EL531THBWH - Scientific	\$42.68	1	\$42.68		
	Total		\$45.52		

Specialist Mathematics

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Texas Instrument TI-84 Plus CE Graphics Calculator	\$220.00	1	\$220.00		
Exercise Book A4 96 Pg (with margin)	\$1.42	2	\$2.84		
	Total		\$222.84		

Dance and Drama

Brigidine College Full length leggings and Brigidine College Black singlet (available from College Uniform Shop)

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	0	\$0.00		
	Total		\$0.00		

Music

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Micro SDHC Card Class10 16GB	\$13.29	1	\$13.29		
	Total		\$13.29		

Music Extension

		Specified		(Order	
Product	Price	Qty	Amount	Qty	Your calc	
No additional products are required for this subject.	\$0.00	0	\$0.00			
	Total		\$0.00			

Certificate III in Visual Art

Requirements supplied via Art Levy

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	0	\$0.00		
	Total		\$0.00		

Visual Art

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Ancient and Modern History

		Sp	ecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	0	\$0.00		
	Total		\$0.00		

Geography

			Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc	
Clipboard Folder A4 PVC Assorted	\$3.96	1	\$3.96			
Noris® colour coloured pencils - assorted 12's	\$4.41	1	\$4.41			
	Total		\$8.37			

Physics

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
	Total		\$1.65		

Biology

Retain from Year 11: Biozone QCE Biology - Units 3 and 4 Workbook

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Biozone QCE Biology Units 3 & 4 9781927309865	\$48.95	1	\$48.95		
	Total		\$50.60		

Chemistry

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Binder Book A4 96 Pg	\$1.65	1	\$1.65		
Pearson Chemistry 12 Qld Skills & Assessment Bk 9781488619687	\$31.96	1	\$31.96		
	Total		\$33.61		

Health and Physical Education

		Sp	Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Certificate III in Fitness

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

French

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	1	\$1.42		
Marker Whiteboard Bullet Tip Black	\$1.62	1	\$1.62		
	Total		\$3.04		

Japanese

			Specified		Order
Product	Price	Qty	Amount	Qty	Your calc
Exercise Book A4 96 Pg (with margin)	\$1.42	1	\$1.42		
Marker Whiteboard Bullet Tip Black	\$1.62	1	\$1.62		
	Total		\$3.04		

Accounting/Business

		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	0	\$0.00		
	Total		\$0.00		

Design

9				Т	
		Sp	pecified	(Order
Product	Price	Qty	Amount	Qty	Your calc
Spirax 533 Sketch Book A3 297 x 420mm 20 Leaf	\$4.10	1	\$4.10		
Pen Artline Drawing System 238 Black (0.8mm)	\$6.98	2	\$13.96		
Marker Sharpie Permanent Fine Black (1.0mm)	\$2.54	2	\$5.08		
Ruler Plastic School 30cm Clear	\$0.62	1	\$0.62		
Faber Classic Coloured Pencils Tin 48 + Colour Wheel	\$46.15	1	\$46.15		
Pencil 9B Staedtler Mars Lumograph	\$2.49	12	\$29.88		
	Total		\$99.79		•

Fashion

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
Artline 200 Fine Liner Pen 0.4mm Black	\$3.10	1	\$3.10		
Bleedproof Pad 70gsm A3 50 Sheets	\$34.95	1	\$34.95		
	Total		\$38.05		

Food and Nutrition

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total		\$0.00		

Legal Studies

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	0	\$0.00		
	Total	\$0.00			

Wellbeing

		Specified		Order	
Product	Price	Qty	Amount	Qty	Your calc
No additional products are required for this subject.	\$0.00	1	\$0.00		
	Total	\$0.00			

Above prices include GST and are for pre-pack orders. Prices may vary in the retail store. A Tax Invoice will be included with your order.